


Warm Up

1. Triangle ABC has vertices A(-5, 0), B(3, -2) and C(-1, 6).
(a) Determine the area of AABC.
(b) Determine the x-intercept of the perpendicular bisector of side AC.
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REVIEW - Coordinate Geometry

Coordinate Geolnetry

* Findingthe Slope of a Line:

(13 Given 2 poirds on the line 2y Giventhe equation of the line
m=&=‘},3_‘},1 F=mr+h
Arox,-x

«  Slopes of Special Lines:

- Horizontal Lines » m=1

- Vertical Lines = m is undefined tho slope)

- Parallel Lines — have slopes that areeqmal to each other

- Perpendicular Lines — have slopes that are negative reciprocals to each other

s  Finding [ntercepts:
- rmtercept = letp =0
- pintercept > letx= 0 OR p=wmx + 1%

s  Findingthe Equation of a Line:
(1) Blope-Intercept Method 2y Point-3lop e Method

y=mx+b F-p=nx-x]

o Fouations of Special Lines:
- Horizontal Lines =

¥ = constamt

- WVertical Lines = ¥ = conskng

o Forms of an Fquation:

(1) Slope-Intercept Form (2 Standard Form - fin fractiong
- #in front of “x”
F=wx+b Ax+ Bp+ =10 term is positive
- zet equal to Zero

o Distance Between 2 Points:

2 2
d:Jlxg—xll +|y2—y1|

o Operations Involving Radicals:

- Simplifying > Jaxb = Ja x4k

- Addition/ Subtraction = # under the radical sign (radicand) must be the same

o  Midpoint of a Line:

ntxr yty

midpomt (x, ¥ = 5 >




o FProperties of Triangles:

(1) Altitude = a perpendicular line drawn from a vertex to the

opposite side 1n a triangle

. ——— Alnitude

To get equation, find.

# pe
M gn € slope

- peint A € point

(2} Median = a line drawn from a vertex to the midpoint of the

opposite side 1n a triangle

To get equation, find
- midpoint of BC
- mig, € slope
- peoint A or M € point

To get length, find. .
- midpoint of BC
- day € 2 points

(31 Right Bisector (Perpendicular Bisector) = a perpendicular line
drawn through the midpoint of a line segment

~Fearpendicular Bisactor

B ]

To get equation, find. .

2 g
B ge © slope
- midpoint of BC € point




NUMBERS, RELATIONS AND FUNCTIONS 10 NAME:

REVIEW ACTIVITY
Given triangle ABC, with vertices A(4,3), B(2,-7) and C(-6,-1), find:

1. The equation of the altitude drawn from A (general form)

-

2. The equation of the median drawn from C (slope-intercept form)

3. The equation of the perpendicular bisector of side AC (point-slope form)
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4, The x-intercept of the altitude drawn from B

5. The length of the median drawn from B

6. The equation of the perpendicular bisector of the median drawn from A (standard form)

The area of triangle ABC



ven triangle AB “"\1' .( 7) and C(-6.-1), find (Wq
MB( -,Ll_, —8- /-f- ﬁ
ﬁ,\+ 4)3)

Y- 3 /(k-w)

%):“fk-% -D




Given triangle ABC, with vertices A(4,3), B(2.-7) and C(-6,-1), find:

o 7 uitimda’idf“ﬁj “““‘%“jfz““)

Men: "ﬁ % §=> Skpe




Given triangle ABC, with vertices A(4,3). B(2,-7) and C(-6,-1), find

3. The equation of the perpendicular bisector of side AC (point-slope form)

-¢
MP q+ .H > Mac

ﬂf,cg (_,. ,) = Z




Given triangle ABC, with vertices A(4.3), B(2,-7) and C(-6,-1), find:

m =‘_L.. ?D;'\"' (2,‘%
\Ln=;_‘i
y - ‘g (x=3)
a* Flf=~Sx £1d
SK"I‘&a +¥=0
X=Laf - ().:0)
Sxt¥Y=0
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Given triangle ABC, with vertices A(4,3). B(2,-7) and C(-6,-1), find:

5. The length oihe mediag drann Qo B from # 3
Mone = (| D :
P ) —C'- 1“"'
foint B (2'7)> o
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